ohE WAl FolA Uhroldolx| ] g

O 22+5

@ 6 =280

@ 9+38
3 36.4 =6



2 FolX oy fadne e 48 4RE
ul27 BA& AL ol AIA LEA Q.

=
g
>
=
(L
ol
L
oZ,
it
e

shA2=(1)| 200 | 140 | 180 | 160 | 120

ekt aelmg ae)3 delght

=



3. T=Fxogtol2vl, 3ul, 44y, ... = Hgto] maty o] g 2 Hj,
3, 4 H, ... B W= AS BF A=A (FH 2 70)

1
@yzxXg—l @6><x—y=0 @x—l—y:_g

1
@y—xxl—o ® y-—x=-2



S
L

o Lroj "ol 4

oy

= 2.16

® 3

3

- +0.2

% 0.25

3-+3.75
®© 8

@ 2

2

1-+0.6
U

7—+5.5
@ 9



® 190 cm?

@ 170 cm?

@ 188 cm?

3 168 cm?

~Tcm

@ 176 cm?



